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Footprints 

When Bholu came with his camera, all he saw was the footprints of these animals. 

Question: 1 

Can you match the animals with their footprints? 

 
Answer: 

 Yes 

 

Question: 2 

Draw the footprint of a dog in this box 

 
 

Question: 3 

Roohi made two different traces of the same bowl. 
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(a) How did Roohi keep the bowl to get two different traces from it? 

Answer: 

 Roohi traced the bowl by using brim and base of it, keeping in two different 

positions. 

 

(b) Look for other things like Roohi’s bowl which can give many different traces. 

Answer: 

 The other things which give different traces are cups, glass, plates etc 

 

Read and Draw 

Tamanna and her mother are sitting on chairs. 

Tamanna is reading a story book. 

Her mother is reading a newspaper. 

Tamanna and her mother are sitting on the opposite sides of a table. 

 
Question: 4 
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Draw the missing things in the picture. 

Answer: 

Draw table, books, newspaper and chairs. 

 

Question: 5 

Look at the shape of each trace you have made. See if it looks like any of the shapes 

given here. Write the name of the thing below the shape. 

 
Answer: 
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Tarani’s Shapes 

 
Tarani made a picture using different shapes. 

 

Question: 6 

Look at Tarani’s picture and tell. 

(a) How many S? 

Answer: 

 30 triangles 
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(b) How many S? 

Answer: 

 9 squares 

(c) How many S? 

Answer: 

 7 rectangles 

(d) How many S? 

Answer: 

 24 circles 
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